
Assembly Instructions
Montageanleitung

ENDE

ECFanGrid Retrofit

MA001BB0218A3



�

S
04

-x
xx

xx

B C

N
88

-x
xx

xx

S
52

-0
00

0x

A

H

S
52

-x
xx

xx

G

S
52

-0
02

00

F

F
G

0-
xx

01
x

Bill Of Material Stückliste

E

S
52

-x
xx

xx

D

Q
52

-x
xx

xx

A1

S
52

-0
00

09



�

J1

J2

J3

S
52

-0
2x

02
S

52
-0

2x
01

I1

I2

I3

S
52

-x
xx

xx

S
52

-x
xx

xx

S
52

-x
xx

xx
J11J21J31

S52-02012 S52-02011 S52-02010

T
A

0-
90

40
1

T
A

0-
10

30
9

T
A

0-
90

30
3

T
A

0-
90

31
0

T
A

0-
44

30
2

T
A

0-
44

40
2

M8x16 M6x20 M6x16 M8x25 6,3x25

L M

S

N O P

Q R

K
S

K
00

9-
00

01
N

K
S

K
05

3-
00

12
G

K
S

K
00

7-
00

01
N

T
A

0-
90

31
2

S
52

-0
2x

00



�

Installation Kit 
for 5 Fans S52-90015

Montagekit
für 5 Ventilatoren S52-90015

10 & 13 mm T 30 & T40

Optional Optional

G
D

R
00

0-
05

20
N

U1

T1

G
R

V
S

-0
40

6

6 mm

M
S

S
00

0-
60

84
N

T3

4 mm

M
S

S
00

0-
40

60
N

T4 T5

M
S

S
00

0-
00

01
C

T6

T
00

-0
00

32

3,5 x 13

T
00

-0
00

40

T8

4 G 1,5 mm²

T
E

1-
00

05
6

V1

T
A

7-
16

07
1

V4
U

52
-0

00
63

12 x 0,25 mm²

S
T

L0
10

-0
02

6N

V2

W
21

-0
00

16
T7

3,5 x 145

V3

M16

T
S

V
S

-0
04

L0
55

T2

40 x 60

20 x 5 mm

D
S

E
00

0-
00

21
N

10
-1

02
00

x

H
40

-0
05

03

V5

SiliconSensor

10
-1

03
01

x

V6 V8V7

Tools Werkzeuge



�

Extra Info

P

A1

A

P

Jx

Jxx

E

Q/R N

B > 2500 mm



�

1



�

2

3

P

P

A

L

H

G

B

M
U1

P



�

4

P

I1 <   80 mm

I2 < 160 mm

I3 < 240 mm

J1<   80 mm

J2< 160 mm

J3< 240 mm

+

P

M

L

G

H

M B

U15



�

6

7

P

S

D

N

V3

T4

T5V4

T1 T8 T6
4 mm

T4

6 mm

T3

a = 16 mm
b = 10 mm

T3T4



	


8

9

N/O

C

F

Art.-Nr./
Item No.

c 
[mm]

d 
[mm]

FG0-02016
FG0-02017

340 340

FG0-04016
FG0-04017

360 460

FG0-06016
FG0-06017

460 460

FG0-09016
FG0-09017

460 660

FG0-12016 560 960

V4



		

10

4 G 1,5 mm²

V1

12 x 0,25 mm²

V2

V1 V2

T2T4

T1

4 mm

T4

6 mm

T3

T6

T8

T2

V5

T3

T5

11



Rosenberg Ventilatoren GmbH � Maybachstraße 1 � 74653 Künzelsau-Gaisbach
Tel.: +49(0)7940/142-149 � Email: ecfangrid@rosenberg-gmbh.com  

www.ecfangrid.com

12


